(2x-a)? =4x* +12x+b D W, a+ b & F27(D, a, b= F)

® -12 @ -6 <E§>6 @ 12 ® 18

B

(2x)2 -2x2xxa+ (-a)? = 4x* — dax + a*> °|B=E
—4a=12, a= -3

b=a*>=9

Ca+b=(-3)+9=6




®3x—5 @ x-1 ® 2x+1

@ x+4 ® 3x+5

3x2 —8x+5=(3x—-5)(x—1)
6x2 —Tx—5=(3x-5)(2x + 1)

BEQ A4 3x—5




® 9x-Ty @ 3x+9y ®)3x+ Ty

@ 9x + 49y ® 3x+ 49y

9x? — 49y? = (3x)%2 = (7y)? = (3x = Ty)(3x + 7y)




@ ¥ +2x-8=(x+4)(x-2)

® 2x* +7x+3=(2x+1)(x+3)
@4x2—|—4x—15 = (x=3)(4x+5)

® x®—14x+49 = (x-7)?

@ 4x% 4 4x - 15 = (2x - 3)(2x + 5)
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(Bx—=1)(x+6) =3x>+18x—x—6
=3x2+17x-6

17=2k-3
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@ 2x-3y @ 2x-y @ 2x+y

2x2 — xy — Ay? = (x — 2y)(2x + my)
=2x2 + (m — 4)xy — 2my?

-A+m=-1,m=3

“A=-2m,A=6

o 2x% — xy — Ay? = (x - 2y)(2x + 3y)
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8. x(y-a)-y+aEHEA AN AL

O x+H+a) @ (x+D0-a O (x-1)(y+a)
@-1D6-a) O (1-xa+y)

x(y—a)-y+a=x(y-a)-(y-a)
=@x-1)(y-a




9. QI%Eoet x+y =31 x—y=11 Y |8t (x2 - dx + 4) —
(y* -2y + 1) 9 = Fstofet,
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>3

o
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(¥ —dx+4)- (> -2y +1)
=(x-2?%-(y-1)
={(>:-2)+-D}{>x-2)-(-1}
=(x+y-3)(x-y-1)

O|BE x4+y=231, x—y=11 5 JY5IH
(P —dx4+4) - (P -2+ 1)
=(31-3)(11-1) =0.1x10 = 1 ©]t}.
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X2y 420y 9 A57E B S Qs ALY

@x—y—? @ x-y-4
@ x-y+4 ® x+y+2

¥ +y?—4-2xy = (x-y)?-2?
=(x-y+2)(x-y-2)
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x+y:(\/§—|— \/§)+(\/§— \/5)22\/5,

x—y = (V+ \B) - (V- v2) = 242
2=y =(x+y)(x-y) =2V3x2V2 =46




12. axb=(a+b)? 22 FAT 0, 2x % (-y) + x* 2y & 7FH5| 5FHI?

@ 2x% + 2y? @ 3x% + 3y? @ 4x2 + 4y?
@D)Sx2 + 5y? ® 6x% + 6y

(2x = y)? + (x + 2y)°
= 4x? — dxy + y* + x% + 4xy + 4y?
= 5x% + 5y?




13. &4 4= °185t (x+a)(x+5) & AR Aol »* 4 bx—15 o[t
olwl, & a, b o] F& A2 Fstofet.

(x+a)(x+5)=x*>+ (a+5)x+5a 7t x> + bx— 15 0| &
a+5=b,5a=-15°|t},
Tt a=-3, -3+5=b, b=2 0|t}




14.

= 2 (2 + 3y + 1)(2x - 3y + 1) = HFEA] A9 A27

D a4 07 —dr 1 @ -9y + 4x 11
® 4x? +9y* +4x +1 @ 4x* - 9y* —4x+1
@ 4x2—9y2+1

B

2x+1=r2} 54
(2x+1+3y)(2x+ 1 -3y)
= (14 3y)(t—3y) =12 - 9y°
= (2x+1)2 - 9y?

=4x? +4x+1 - 9y?




15, (x—4)(x-3)(x+2)(x+3) 9 AANIA 52 ] Ao} 45e] T2
Fotofet.

> E:
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B

(x=4)(x - 3)(x +2)(x + 3)
={(x=4)(x+3)H(x - 3)(x +2)}

= (x2 - x-12)(x> - x - 6)

120l Y=o _6x2 4 x2 - 12x2 = —17x2 0|t}

wrabA] x2 o] Al 1703 A2 720]| B2 42 9] Aot
Ar5-3ro] 9H2 —17 + 72 = 550|th.
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1004

(1004 - 1)(1004 +1) +1 _ 1004 -1 +1

1004 1004
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VAx2 —12x 4+ 9+ VOx2 — 12x + 4
= /(2x=3)2 + /(3x-2)2

=2x—3|+3x-2
=x+10]B=2
[2x =3 = (x+1) - (3x - 2) = —2x + 3 °|t}.
Z x< 2o

2
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18. X2 18x+ A= (x+4)(x-B) < 0, A, BO] g2 77} Lshodal,

> =
> £
> HE: A=-88
> HMEH B=22

x?—18x—88 = x? + (4 - B)x— 4B
4-B=-18, ©.B=22
. A=-4B = -88




19. =3 2 -5x-a, 22 -x-b A FEA A7t x-3 L W, a+b

o g Fotofar,

(i) x*=bx—a=(x-3)(x+a)
=x2 + (@ - 3) x - 3a °IA
a—3=-5a=-2
—a=-3a¢=06
Soa=—6
(i) 2x2 —x-b = (x-3) (2x + )
=2x2 + (8- 6) x — 38 oA

Ta+b=-6+15=9
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DO x+4 @)2x+1 ® 2x+3
@ 3x+2 ®)3x+4

6x%+11x+4 = (2x+1)(3x+ ,
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21. thg Ao] AAFAY W, 4% a ) g Fotelet

(x+2)(x+4)(x+5)(x+7)+a

Ch "
| —

| 2
> A a=9

B

EN=(x+2)(x+7)(x+4)(x+5)+a
= (x2—|—9x+ 14) (x2—|—9x—|—20)—|—a

X2+ 9x=A 2 *|35IH

(F4) =(A+14)(A+20) +a
=A%2+34A+280+a
= (A+17)% = (2 +9x + 17)°

172 =280 +a

ca=9




22. o T8 -19 Q57 obd A2

® x-1 ® x2-1 @ #-1

@)x° -1 ® #-1
@




23.

TFFA] x? — dxy + 3y? — Tx + 5y — 8 = Ql2aliolH?

@ (x+3y-8)(x+y+1)
® (x+3y-8)(x—y-1)
@ x-3y-8)(x-y+1)

@ (x=3y+8)(x+y+1)

@ (x=3y+2)(x-y+4)

-4y +T)x+3y?+5y-8

=(x-3y-8)(x—y+1)

=x>—(4y+Tx+ By +8)(y—-1)




24.

®©S=@r-anr @ S =(a®+rn
® S =a(r+3a)r @S =a(a+2r)n
® S=(a+r(a-rr

~&B

S =(a+r)n-rn
=n{(a+r)?-r?}
=nla+r+r)at+r-r)
= an(2r + a)




25. (2x-3y+1)(2x+3y-1) = A7NstH?

© 4x?-3y* -1 @ 4x* -9y? -1
@4x2‘9y2+6y—1 @ 4x* 4+ 6y* -3y -1

® 4x%-3y> + 6y -1

B

(2x-3y+1)(2x+3y—1)
={2x-(By-1}{2x+ (3y-1)}
= (2x)” - (3y - 1)?

= 4x? = (9y* — 6y + 1)

= 4x% - 9y% + 6y -1




26. x o T O] A4S 2x+ 5 2 LHR Fo] 3x 4+ 4 o] 3, A 1

@D 3x2+12x+1 @ 3x2+12x+11
® 6x% +23x+20 @ 6x2 4 27x+ 20

@ 6x2 + 23x + 21

X (%) + (HHA]) o] B2
(3x+4)+1 =6x2+23x+21
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28. Ax?2+36x+ B = (2x+ C)? oA &+ A, B, C 9] = o142

@ 4 @9 ® 81 @ 90 (@)94

Ax24-36x+B = 4x2+2x2Cx+-C2 0]|E2 A =4, B=81,C =19
ot}
Wl A+ B+ C=4+81+9=94 0|t}




29.

@ (x—y+4) @ (x+y-4)?
® (x—y-2)(x+y+8) @) (x+y-1)(x-y-1)
® (—x—y+4)(x—y+4)

B

x+4=rt2totH

(t+y)(t—y) - 16x

=12 —y2 - 16x

= (x+4)% - 16x — y?

x% + 8x + 16 — 16x) — y?

x? —8x+ 16) — y?

4)2 —y?
—4)(x-y-4)

X

= (
= (
:( —
=(x+y




30. 22-62 4+ 102 — 142 + 182 — 222 + 262 — 302 & AAtstoa}.
=i

>
> H=E: 512

B

(£ A) =(2-6)(2+6) + (10 - 14)(10 + 14)
+ (18 — 22)(18 + 22)
+ (26 — 30)(26 + 30)
= —4(2+6+10 + 14 + 18 + 22 4 26 + 30)
=—-4x4x32
= -512




31.

1 2
X

1
x2+—2+2=16
X

1
X

1\? 1
(x__) 245 -2=14-2=12
X X

X —




32. a+b+c=5°, ab+bc+ca=1L2 W, a®+0b%>+ %9 3
“Fofof et

> E:

> e 23

a®+b*+c? =(a+b+c)?-2(ab+ bc+ ca)
=(5)2-2x1=23




33.

(-3) -2 =0 L mh x— 1 o] grg Fatolet. (& x>1)
=F

>
> Mt

oH =

N w




34. o= T deEdliet Aol A4 g2 A2

his

@® 4x? +12x+9 = (2x + 3)?

@ Loy +1—(1 +1)2
4x X = 2x

@ g= (r3)

2
@ 3x24+6x+3=3(x+1)2

® x%+10x+25= (x+5)?

@xz—x—i—l: (x—1>2




() =x3—x+y-x2y
:x(x2—1)—y(x2—1)
=(*?-1)(x-y)
=@x+1)(x-1)(x-y)

x4+ 1+x-14+x—-y=3x—-y




